220/.262(
N%&N& ﬂ.aoocth%
r\ &S 0g 3&) 2 A .wvz = %3.,@3

ﬁi\\?s%c%zs,@&
@Mw = \UmDVw
x (=) (x) - «Ti«w
~s_\»..
X Axév.d [ V - «xk&vmﬁixv v

e ge |

T S

mx.xev . ~\
W (X)X * X (X%
y XeAX _xhaxt=3%" v’




5 X s+v—|
>) X7 ¢ -
+ =
\mi»i« \
| d N
[~-x) T iy
- () mm _x)F e X N%T\xvm. (1-x) v
1 _

(1-5:) (=) ¢









mxw@x\ﬁ& =

\'

< (o) [3x)_# 0x]
e -1z * R

/e x -2 = Y(4x-3)

_ o x*(4x-3) (ax-¢)1 3

e

/N
%:
X
\J
i“\




Kook entregelen \M\v\ 49 -459
? Q*
i /
waw §=1 ,9="x
K.C\ ok - 9 =1
- - —
X X C\ ¥
Lo Wt = B ((2x =) .
A.@AJWV.‘*V ) \m\mx..wvﬁ\\hs ua,%
_ \Nx(wx\ — X %N.N\Tv/\\\.mxlvlbu Um
B NN\Mx&,VpCN ¥
, . 8X |
= “NVA.AWV»\ N\\NX!M[V“ ®§ &%&\ny
ax=1 \/ (ax-10) (x*=-3x) — (2x-1) [ x'=3x)"
%\Q&Qd KXP l.w%v = - xVAo.IwXVP
2 (x*-3x) — \\N%lvxkwiv
= z_ ‘uXvP.,




I

1

= rW r&»\
Q\\N..m L %.m»\mw
h.\ 9
L9 —43

rm\ul










